BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: UA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13 **GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73** CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS NOVEMBER 11, 2025 LIA ENGINEERING, INC. C CORTEZ **NOVEMBER 11, 2025**

0386-3113A (9.2)

BIDDER NAME	BASE BID
1) PRINCIPAL SERVICES, LTD	\$1,571,755.41
2) FELLERS AND CLARK LP	\$1,572,975.00
3) LONNIE LISCHKA COMPANY, LP	\$1,623,590.45
4) DIMAS BROS. CONSTRUCTION	\$1,631,976.00
5) BLAZEY CONSTRUCTION SERVICES LLC	\$1,653,255.35
6) CROSTEX CONSTRUCTION INC.	\$1,690,000.00
7) R CONSTRUCTION CIVIL, LLC	\$1,749,980.33

40/50 CALENDAR DAYS

I, JACK SULLIVAN , P.E., hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025

LJA ENGINEERING, INC. C CORTEZ

C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				1) PRINCIPAL SERVICES, LTD		2) FELLERS AND CLARK LP		3) LONNIE LISCHKA COMPANY, LP		4) DIMAS BROS. CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.	YSTEM ITEMS 6" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	637	\$32.00	\$20,384.00	\$36.90	\$23,505.30	\$31.21	\$19,880.77	\$25.70	\$16,370.90
	8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NECESSARY, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LF	3544	\$36.50	\$129,356.00	\$36.75	\$130,242.00	\$34.01	\$120,531.44	\$29.50	\$104,548.00
	FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	9	\$7,096.00	\$63,864.00	\$7,112.95	\$64,016.55	\$6,256.00	\$56,304.00	\$6,500.00	\$58,500.00
	REMOVE AND RELOCATE OF EXISTING BLUE DEAD END FIRE HYDRANT AND CONNECT PROPOSED WATERLINE TO EXISTING WATERLINE, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$1,283.00	\$1,283.00	\$284.80	\$284.80	\$750.00	\$750.00	\$1,500.00	\$1,500.00
	BLUE DEAD END FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$6,720.00	\$13,440.00	\$7,112.95	\$14,225.90	\$6,068.98	\$12,137.96	\$6,284.00	\$12,568.00
	6" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	6	\$1,494.00	\$8,964.00	\$1,608.50	\$9,651.00	\$1,331.33	\$7,987.98	\$1,235.00	\$7,410.00
	8" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	12	\$2,125.00	\$25,500.00	\$2,337.55	\$28,050.60	\$1,925.00	\$23,100.00	\$1,825.00	\$21,900.00
	12" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$4,160.00	\$8,320.00	\$4,275.30	\$8,550.60	\$3,666.56	\$7,333.12	\$3,400.00	\$6,800.00
9.	DUCTILE IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	2.33	\$297.00	\$692.01	\$113.90	\$265.39	\$100.00	\$233.00	\$6,300.00	\$14,679.00
10.	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	4181	\$2.00	\$8,362.00	\$2.00	\$8,362.00	\$2.00	\$8,362.00	\$2.00	\$8,362.00
	12" X 8" TAPPING SLEEVE, VALVE, AND BOX, NCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	EA	1	\$13,150.00	\$13,150.00	\$4,500.00	\$4,500.00	\$10,300.00	\$10,300.00	\$10,500.00	\$10,500.00
SUBTOTA	AL WATER SYSTEM ITEMS			-	\$293,315.01	-	\$291,654.14	-	\$266,920.27		\$263,137.90
1.	Y SEWER ITEMS 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 8'- 12' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2299	\$38.00	\$87,362.00	\$51.90	\$119,318.10	\$39.85	\$91,615.15	\$41.70	\$95,868.30
	8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 12'- 16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1027	\$38.00	\$39,026.00	\$51.90	\$53,301.30	\$50.14	\$51,493.78	\$45.50	\$46,728.50
	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSARY FITTINGS, COMPLETE IN PLACE	EA	25	\$1,703.00	\$42,575.00	\$1,451.60	\$36,290.00	\$1,210.00	\$30,250.00	\$1,365.00	\$34,125.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025
LIA ENGINEERING, INC.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				1) PRINCIPAL SERVICES, LTD 2) FELLERS AND CLARK LP 3) LONNIE LISCHKA COMPANY, LP		KA COMPANY, LP	4) DIMAS BROS. CONSTRUCTION				
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSARY FITTINGS, COMPLETE IN PLACE	LF	1805	\$37.00	\$66,785.00	\$43.80	\$79,059.00	\$51.61	\$93,156.05	\$57.65	\$104,058.25
5	. STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0' – 8' DEPTH), INCLUDING THANE COATING, COMPLETE IN PLACE	EA	26	\$3,721.00	\$96,746.00	\$3,093.25	\$80,424.50	\$3,742.42	\$97,302.92	\$3,884.00	\$100,984.00
6	. EXTRA DEPTH FOR SANITARY SEWER MANHOLE OVER 8' DEPTH, COMPLETE IN PLACE	VF	120	\$302.00	\$36,240.00	\$222.15	\$26,658.00	\$195.00	\$23,400.00	\$195.00	\$23,400.00
7	. FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	26	\$1.00	\$26.00	\$0.01	\$0.26	\$75.00	\$1,950.00	\$75.00	\$1,950.00
8	. CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	3	\$425.00	\$1,275.00	\$797.40	\$2,392.20	\$350.00	\$1,050.00	\$400.00	\$1,200.00
9	. REMOVE AND DISPOSE OF EXISTING SANITARY SEWER PLUG AND CONNECT PROPOSED 8" SANITARY SEWER (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$135.00	\$135.00	\$389.30	\$389.30	\$180.00	\$180.00	\$184.00	\$184.00
10	DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1663	\$20.00	\$33,260.00	\$20.00	\$33,260.00	\$20.00	\$33,260.00	\$20.00	\$33,260.00
11	. T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	3326	\$3.00	\$9,978.00	\$3.00	\$9,978.00	\$3.00	\$9,978.00	\$3.50	\$11,641.00
12	. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3326	\$2.00	\$6,652.00	\$2.00	\$6,652.00	\$2.00	\$6,652.00	\$2.00	\$6,652.00
SUBTO	TAL SANITARY SEWER ITEMS			-	\$420,060.00		\$447,722.66	_	\$440,287.90	_	\$460,051.05
	IGE FACILITY ITEMS . 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1552	\$83.00	\$128,816.00	\$97.40	\$151,164.80	\$99.50	\$154,424.00	\$102.00	\$158,304.00
2	. 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	28	\$100.00	\$2,800.00	\$124.55	\$3,487.40	\$127.88	\$3,580.64	\$107.55	\$3,011.40
3	. 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	702	\$140.00	\$98,280.00	\$148.25	\$104,071.50	\$168.29	\$118,139.58	\$171.00	\$120,042.00
4	. 42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	157	\$190.00	\$29,830.00	\$187.40	\$29,421.80	\$219.96	\$34,533.72	\$217.00	\$34,069.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS NOVEMBER 11, 2025 LA BENGINEERING, INC. C CORTEZ

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

NOVEMBER 11, 2025 0386-3113A (9.2)

				1) PRINCIPAL SERVICES, LTD		2) FELLERS AND CLARK LP		3) LONNIE LISCHKA COMPANY, LP		4) DIMAS BROS. CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
5.	. 48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	297	\$225.00	\$66,825.00	\$218.60	\$64,924.20	\$236.78	\$70,323.66	\$238.00	\$70,686.00
6	. 54" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	181	\$319.00	\$57,739.00	\$306.50	\$55,476.50	\$368.28	\$66,658.68	\$341.20	\$61,757.20
7	. 60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	41	\$378.00	\$15,498.00	\$348.50	\$14,288.50	\$429.49	\$17,609.09	\$395.00	\$16,195.00
8	. 66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	121	\$480.00	\$58,080.00	\$442.80	\$53,578.80	\$569.81	\$68,947.01	\$533.00	\$64,493.00
9	. 6' X S' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	128	\$670.00	\$85,760.00	\$569.20	\$72,857.60	\$540.03	\$69,123.84	\$564.00	\$72,192.00
10	. STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	20	\$1,612.00	\$32,240.00	\$1,065.10	\$21,302.00	\$1,423.24	\$28,464.80	\$1,184.00	\$23,680.00
11	. STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	20	\$2,249.00	\$44,980.00	\$2,369.45	\$47,389.00	\$1,527.11	\$30,542.20	\$1,675.00	\$33,500.00
12	. STAGE I – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	6	\$1,712.00	\$10,272.00	\$1,201.80	\$7,210.80	\$1,508.85	\$9,053.10	\$1,545.00	\$9,270.00
13	. STAGE II – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	6	\$3,639.00	\$21,834.00	\$2,876.40	\$17,258.40	\$2,540.00	\$15,240.00	\$2,495.00	\$14,970.00
14	. STAGE I - MODIFIED REINFORCED CONCRETE INLET D-12A W/ 10' BODY AND 5' WING EXTENSION, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALED SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	1	\$3,334.00	\$3,334.00	\$16,153.35	\$16,153.35	\$14,500.00	\$14,500.00	\$3,184.00	\$3,184.00
15	. STAGE II - MODIFIED REINFORCED CONCRETE INLET D-12A W/ 10' BODY AND 5' WING EXTENSION, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALED SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	1	\$2,412.00	\$2,412.00	\$2,876.40	\$2,876.40	\$14,500.00	\$14,500.00	\$4,284.00	\$4,284.00
16	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,090.00	\$4,090.00	\$5,240.15	\$5,240.15	\$3,361.31	\$3,361.31	\$6,500.00	\$6,500.00
17	. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$3,135.00	\$34,485.00	\$2,298.45	\$25,282.95	\$3,029.00	\$33,319.00	\$3,000.00	\$33,000.00 FRN F-1386

LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025

LJA ENGINEERING, INC. C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				1) PRINCIPA	L SERVICES, LTD	2) FELLERS A	AND CLARK LP	3) LONNIE LISCHKA COMPANY, LP		4) DIMAS BROS. CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$4,382.00	\$39,438.00	\$4,135.15	\$37,216.35	\$5,782.35	\$52,041.15	\$5,848.00	\$52,632.00
[REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP, ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, PER CITY OF LEAGUE CITY STANDARDS, COMPLETE IN PLACE	EA	3	\$18,589.00	\$55,767.00	\$15,122.40	\$45,367.20	\$12,757.50	\$38,272.50	\$12,250.00	\$36,750.00
E	FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHOLES, JUNCTION SOXES, AND INLET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	24	\$1.00	\$24.00	\$0.01	\$0.24	\$50.00	\$1,200.00	\$75.00	\$1,800.00
	CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	23	\$425.00	\$9,775.00	\$142.40	\$3,275.20	\$200.00	\$4,600.00	\$300.00	\$6,900.00
	BREAK INTO EXISTING JUNCTION BOX AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$377.00	\$377.00	\$3,474.45	\$3,474.45	\$1,200.00	\$1,200.00	\$884.00	\$884.00
	r.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	3207	\$3.00	\$9,621.00	\$3.00	\$9,621.00	\$3.00	\$9,621.00	\$4.00	\$12,828.00
24. 1	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3207	\$2.00	\$6,414.00	\$2.00	\$6,414.00	\$2.00	\$6,414.00	\$2.00	\$6,414.00
() A	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL, INCLUDES DEWATERING AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY ENGINEER, PER GEOTECHNICAL RECOMMENDATION), COMPLETE IN PLACE	EA		\$3,765.00	\$3,765.00	\$5,677.91	\$5,677.91	\$3,100.00	\$3,100.00	\$4,399.45	\$4,399.45
SUBTOTA	L DRAINAGE FACILITY ITEMS				\$822,456.00	-	\$803,030.50	_	\$868,769.28	_	\$851,745.05
1. I (NEOUS WS&D ITEMS NSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES NSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR FOR WATER SANITARY SEWER, AND DRAINAGE, COMPLETE IN PLACE	LS	1	\$11,000.00	\$11,000.00	\$113.90	\$113.90	\$15,685.00	\$15,685.00	\$14,000.00	\$14,000.00
	CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE	HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	2000	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025
LIA ENGINEERING, INC.

C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				1) PRINCIPAL SERVICES, LTD 2) FELLERS AND CLARK LP 3) LONNIE					LONNIE LISCHKA COMPANY, LP 4) DIMAS BROS. CONSTRUC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
6.	WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USED AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	СҮ	7714	\$1.00	\$7,714.00	\$1.70	\$13,113.80	\$2.00	\$15,428.00	\$3.00	\$23,142.00
7.	MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	3000	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00
8.	EXISTING CLEARED MATERIAL STOCKPILES TO BE HAULED AND DISPOSED OFFSITE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	AC	0.08	\$21,380.00	\$1,710.40	\$23,000.00	\$1,840.00	\$12,500.00	\$1,000.00	\$55,000.00	\$4,400.00
SUBTOT	AL MISCELLANEOUS WS&D ITEMS			-	\$35,924.40		\$30,567.70	-	\$47,613.00	_	\$57,042.00
BID SUM	MMARY										
WATER S	SYSTEM ITEMS				\$293,315.01		\$291,654.14		\$266,920.27		\$263,137.90
SANITAR	RY SEWER ITEMS				\$420,060.00		\$447,722.66		\$440,287.90		\$460,051.05
DRAINA	GE FACILITY ITEMS				\$822,456.00		\$803,030.50		\$868,769.28		\$851,745.05
MISCELL	ANEOUS WS&D ITEMS				\$35,924.40		\$30,567.70		\$47,613.00		\$57,042.00
TOTAL A	MOUNT BASE BID			48	\$1,571,755.41		\$1,572,975.00		\$1,623,590.45		\$1,631,976.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73

6) CROSTEX CONSTRUCTION INC.

7) R CONSTRUCTION CIVIL, LLC

GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025

5) BLAZEY CONSTRUCTION SERVICES LLC

LJA ENGINEERING, INC. C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				3, 52,221 00110111	0011011021111020 220	9, 51.5512.1 5511		7,112011011100110110112,220	
NO. ITEM DESCRIPTION	U	NIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER SYSTEM ITEMS 1. 6" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTH INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NI AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	S, I	LF	637	\$28.00	\$17,836.00	\$31.00	\$19,747.00	\$32.00	\$20,384.00
8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTH INCLUDES BEDDING AND BACKFILL, RESTRAINED JOINTS WHERE NI AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE		LF	3544	\$36.00	\$127,584.00	\$34.25	\$121,382.00	\$36.00	\$127,584.00
FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCE COMPLETE IN PLACE	ES, E	EA	9	\$6,885.00	\$61,965.00	\$6,600.00	\$59,400.00	\$6,700.00	\$60,300.00
 REMOVE AND RELOCATE OF EXISTING BLUE DEAD END FIRE HYDRA CONNECT PROPOSED WATERLINE TO EXISTING WATERLINE, ALL DE INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE 		EA	1	\$1,065.00	\$1,065.00	\$5,000.00	\$5,000.00	\$450.00	\$450.00
BLUE DEAD END FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	. [EA	2	\$7,129.00	\$14,258.00	\$6,300.00	\$12,600.00	\$6,400.00	\$12,800.00
6. 6" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	E	EA	6	\$1,246.00	\$7,476.00	\$1,350.00	\$8,100.00	\$1,550.00	\$9,300.00
7. 8" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	E	EA	12	\$1,876.00	\$22,512.00	\$1,950.00	\$23,400.00	\$2,200.00	\$26,400.00
8. 12" RESILIENT SEATED GATE VALVE WITH BOX, INCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	i	EA	2	\$3,520.00	\$7,040.00	\$3,700.00	\$7,400.00	\$3,900.00	\$7,800.00
9. DUCTILE IRON WATERLINE FITTINGS, COMPLETE IN PLACE	T	ON	2.33	\$6,499.00	\$15,142.67	\$1,000.00	\$2,330.00	\$1.00	\$2.33
10. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLA	ACE I	LF	4181	\$2.00	\$8,362.00	\$2.00	\$8,362.00	\$2.00	\$8,362.00
11. 12" X 8" TAPPING SLEEVE, VALVE, AND BOX, NCLUDING ALL APPURTENANCES, COMPLETE IN PLACE	Ē	EA	1	\$5,476.00	\$5,476.00	\$8,500.00	\$8,500.00	\$11,000.00	\$11,000.00
SUBTOTAL WATER SYSTEM ITEMS				-	\$288,716.67	_	\$276,221.00	_	\$284,382.33
SANITARY SEWER ITEMS 1. 8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 8'- 12' DEPTI INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	н, і	LF	2299	\$48.00	\$110,352.00	\$39.00	\$89,661.00	\$49.00	\$112,651.00
8" P.V.C. SEWER PIPE (GREEN), ASTM D-3034, SDR 26, 12'- 16' DEP' INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	тн, і	LF	1027	\$55.00	\$56,485.00	\$44.00	\$45,188.00	\$50.00	\$51,350.00
3. "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, AST 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILIZ BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSAR FITTINGS, COMPLETE IN PLACE	ZED SAND	EA	25	\$1,328.00	\$33,200.00	\$1,550.00	\$38,750.00	\$1,600.00	\$40,000.00

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13 GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73 CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS NOVEMBER 11, 2025

LJA ENGINEERING, INC. C CORTEZ **NOVEMBER 11, 2025** 0386-3113A (9.2)

TABULA	NING LOCATION: TION BY: TION DATE: NO.			LIA ENGINEERING, INC C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)	. .					
			5) BLAZEY CONSTRUCTION SERVICES LLC		6) CROSTEX CONSTRUCTION INC.		7) R CONSTRU	CTION CIVIL, LLC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, STACK, PLUG, MARKER, AND ALL NECESSARY FITTINGS, COMPLETE IN PLACE		1805	\$62.00	\$111,910.00	\$46.00	\$83,030.00	\$45.00	\$81,225.00	
5.	STANDARD SANITARY SEWER MANHOLE FOR $6''-24''$ SANITARY SEWER PIPES, $(0'-8')$ DEPTH), INCLUDING THANE COATING, COMPLETE IN PLACE	EA	26	\$3,901.00	\$101,426.00	\$3,800.00	\$98,800.00	\$4,700.00	\$122,200.00)
6.	EXTRA DEPTH FOR SANITARY SEWER MANHOLE OVER 8' DEPTH, COMPLETE IN PLACE	VF	120	\$226.00	\$27,120.00	\$380.00	\$45,600.00	\$275.00	\$33,000.00	
7.	FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	26	\$28.00	\$728.00	\$100.00	\$2,600.00	\$50.00	\$1,300.00	
8.	CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	3	\$275.00	\$825.00	\$500.00	\$1,500.00	\$850.00	\$2,550.00	
9.	REMOVE AND DISPOSE OF EXISTING SANITARY SEWER PLUG AND CONNECT PROPOSED 8" SANITARY SEWER (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1		\$826.00	\$1,500.00	\$1,500.00	\$150.00	\$150.00	
10.	DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), ALL DEPTHS, (THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1663	\$27.00	\$44,901.00	\$20.00	\$33,260.00	\$20.00	\$33,260.00	
11.	T.V. INSPECTION OF SANITARY SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	3326	\$3.00	\$9,978.00	\$3.00	\$9,978.00	\$3.00	\$9,978.00	
12.	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3326	\$2.00	\$6,652.00	\$2.00	\$6,652.00	\$2.00	\$6,652.00	
SUBTOT	AL SANITARY SEWER ITEMS				\$504,403.00		\$456,519.00		\$494,316.00	
	GE FACILITY ITEMS 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1552	\$90.00	\$139,680.00	\$84.00	\$130,368.00	\$96.00	\$148,992.00	
2.	30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	28	\$109.00	\$3,052.00	\$101.00	\$2,828.00	\$163.00	\$4,564.00	
3.	36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	702	\$144.00	\$101,088.00	\$159.00	\$111,618.00	\$188.00	\$131,976.00	
4.	42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	157	\$186.00	\$29,202.00	\$201.00	\$31,557.00	\$240.00	\$37,680.00	

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025
LIA ENGINEERING, INC.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				5) BLAZEY CONSTR	RUCTION SERVICES LLC	6) CROSTEX CO	NSTRUCTION INC.	7) R CONSTRUC	7) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
5	48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	297	\$221.00	\$65,637.00	\$241.00	\$71,577.00	\$260.00	\$77,220.00	
6	54" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	181	\$312.00	\$56,472.00	\$342.00	\$61,902.00	\$355.00	\$64,255.00	
7	60" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	41	\$363.00	\$14,883.00	\$386.00	\$15,826.00	\$450.00	\$18,450.00	
8	66" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, WITH RUBBER GASKET JOINTS, INCLUDING BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	121	\$474.00	\$57,354.00	\$531.00	\$64,251.00	\$625.00	\$75,625.00	
9.	6' X.5' REINFORCED CONRETE BOX CULVERT, ASTM C-1433, WITH RUBBER GASKET JOINTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	128	\$587.00	\$75,136.00	\$608.00	\$77,824.00	\$582.00	\$74,496.00	
10	STAGE I – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	20	\$2,015.00	\$40,300.00	\$3,000.00	\$60,000.00	\$1,400.00	\$28,000.00	
11	STAGE II – STANDARD 5' PRECAST REINFORCED CONCRETE INLET ("H-2") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	20	\$1,413.00	\$28,260.00	\$950.00	\$19,000.00	\$2,800.00	\$56,000.00	
12	STAGE I – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE		6	\$1,828.00	\$10,968.00	\$3,000.00	\$18,000.00	\$1,600.00	\$9,600.00	
13	STAGE II – STANDARD 10' PRECAST REINFORCED CONCRETE INLET ("C-1") ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	EA	6	\$1,963.00	\$11,778.00	\$1,250.00	\$7,500.00	\$3,100.00	\$18,600.00	
	STAGE I - MODIFIED REINFORCED CONCRETE INLET D-12A W/ 10° BODY AND 5' WING EXTENSION, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALED SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	1	\$16,412.00	\$16,412.00	\$18,000.00	\$18,000.00	\$8,750.00	\$8,750.00	
15	STAGE II - MODIFIED REINFORCED CONCRETE INLET D-12A W/ 10' BODY AND 5' WING EXTENSION, CONTRACTOR SHALL PROVIDE ENGINEER SIGNED AND SEALED SHOP DRAWINGS FOR APPROVAL, FABRICATION, AND INSTALLATION, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	EA	1	\$1,963.00	\$1,963.00	\$4,000.00	\$4,000.00	\$2,750.00	\$2,750.00	
16	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,981.00	\$4,981.00	\$10,000.00	\$10,000.00	\$6,100.00	\$6,100.00	
17	TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$3,245.00	\$35,695.00	\$3,700.00	\$40,700.00	\$3,350.00	\$36,850.00	

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025
LIA ENGINEERING, INC.

C CORTEZ NOVEMBER 11, 2025 0386-3113A (9.2)

				5) BLAZEY CONSTR	EUCTION SERVICES LLC	TION SERVICES LLC 6) CROSTEX CONSTRUCTION INC.		7) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
18	. TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$5,129.00	\$46,161.00	\$8,500.00	\$76,500.00	\$6,350.00	\$57,150.00
19	REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP, ALL DEPTHS, INCLUDING ALL NECESSARY APPURTENANCES, PER CITY OF LEAGUE CITY STANDARDS, COMPLETE IN PLACE	EA	3	\$11,739.00	\$35,217.00	\$18,000.00	\$54,000.00	\$10,700.00	\$32,100.00
20	I. FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHOLES, JUNCTION BOXES, AND INLET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE	EA	24	\$28.00	\$672.00	\$100.00	\$2,400.00	\$50.00	\$1,200.00
21	. CONCRETE BLOCKOUT FOR PROPOSED MANHOLES IN PAVED AREAS (PER DETAIL), COMPLETE IN PLACE	EA	23	\$275.00	\$6,325.00	\$500.00	\$11,500.00	\$850.00	\$19,550.00
22	. BREAK INTO EXISTING JUNCTION BOX AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$413.00	\$413.00	\$1,000.00	\$1,000.00	\$625.00	\$625.00
23	. T.V. INSPECTION OF STORM SEWER LINES, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	3207	\$3.00	\$9,621.00	\$3.50	\$11,224.50	\$3.00	\$9,621.00
24	. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3207	\$2.00	\$6,414.00	\$2.00	\$6,414.00	\$2.00	\$6,414.00
25	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL, INCLUDES DEWATERING AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, (AS DIRECTED BY ENGINEER, PER GEOTECHNICAL RECOMMENDATION), COMPLETE IN PLACE	EA		\$7,155.00	\$7,155.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
SUBTO	TAL DRAINAGE FACILITY ITEMS				\$804,839.00	-	\$912,989.50	_	\$931,568.00
	LANEOUS WS&D ITEMS . INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
2	. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR FOR WATER SANITARY SEWER, AND DRAINAGE, COMPLETE IN PLACE	LS	1	\$14,199.00	\$14,199.00	\$11,000.00	\$11,000.00	\$14,500.00	\$14,500.00
3	CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE	HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
4	. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$1,375.00	\$1,375.00	\$1,742.50	\$1,742.50	\$1,000.00	\$1,000.00
5	OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	2000	\$2.40	\$4,800.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SAMARA SECTION 13
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 11, 2025
LIA ENGINEERING, INC.
C CORTEZ

NOVEMBER 11, 2025 0386-3113A (9.2)

				5) BLAZEY CONSTR	5) BLAZEY CONSTRUCTION SERVICES LLC		INSTRUCTION INC.	7) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
-	6. WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOILS TO BE USED	CY	7714	\$2.70	\$20,827.80	\$2.00	\$15,428.00	\$1.00	\$7,714.00
	AS FILL PER THE GRADING PLAN WITHIN SECTION, INCLUDES EXCAVATION, HAULING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH								
	MAXIMUM 8" LIFTS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE								
									73 7
7	 MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE 	LF	3000	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00
	ENGINEER, COMPLETE IN PLACE								
8	3. EXISTING CLEARED MATERIAL STOCKPILES TO BE HAULED AND DISPOSED	AC	0.08	\$34,936.00	\$2,794.88	\$20,000.00	\$1,600.00	\$25,000.00	\$2,000.00
	OFFSITE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE								
								-	******
SUBTO	TAL MISCELLANEOUS WS&D ITEMS				\$55,296.68		\$44,270.50		\$39,714.00
BID SU	MMARY								
WATER	SYSTEM ITEMS				\$288,716.67		\$276,221.00		\$284,382.33
SANITA	RY SEWER ITEMS				\$504,403.00		\$456,519.00		\$494,316.00
	ACC TAGUETUTE 45				4004.000.00		4042.000.50		4024 550 00
DRAINA	AGE FACILITY ITEMS				\$804,839.00		\$912,989.50		\$931,568.00
MISCEL	LANEOUS WS&D ITEMS				\$55,296.68		\$44,270.50		\$39,714.00
TOTAL	AMOUNT BASE BID				\$1,653,255.35		\$1,690,000.00		\$1,749,980.33